12°

8'.\

-4

-3

CELL 25

= =
3 :
g 0-50 fi .
< 2

0 10° 20° kllh 40° 507

e — e e ey T
(7]
UK
0 10° 20° 30° 40° s0°

T

.5

-4}



CELL 25

o 50-100 ft =
: %
g <
507 Gl 70 80 a’ 100"
12 12
8’ 8
L] !_
4 4
" 4
4
o -8
198 -127

S0° 60’ 70° 80° 90° 100°



8?

-12°

CELL 25

= 100-150 ft %
1007 1107 1207 130° 140° 150°
L
f
L
1007 1107 1200 130° 1407 150°

12

4’

o



12°

4

-8’

=

CELL 25

= =
f 150-200 ft E
E =
150° 160° 1700 1807 1907 200°
150° 160° 170 180° 1907 2000

L2

41

4

-8’

-12°



CELL 25

[—]

T 200-250 ft =

x 5

- -

200° 210 2200 230 2407 250°
12 | it
8’ g’
4’ 4

_4’ _41
-8’ -4
-127 32

2000 210 220° 230° 240° 250°



2"

8'!

-4

-8’

-127

CELL 25

b 250-300 ft =
b i
2 s
250 260° 270 280’ 200° 3007
&
N S A -
i
P
I
=y
250° 260’ 270 2807 290° 00

12

8!

-12°



2

8!‘

41

CELL 25

= 300-350 ft T
;j:] -
v, £
Lo —

oo 3y 3200 33 3400 sy

e ¥
— —— —— T ——— o]
300° 310° 320° 330° 340° 350"

12

81

43

-12°



&

8'.1

-12°

CELL 25

._ J_-f'\l "’ v 'PJ

E J50-400 fi =
= +
e e
350° 360° 370° 380° 390° 4007
r————— —— — ——
L
— — - —— — —]
LA
-+
350° 360° 370" 380° 390" 400’
VO g crmcks —
3oy Ll oy SENSOR AREA

12

4?

-4

<12



k&

8'!

-12°

CELL 25

E 400-450 1t E
% 3
e =
400° 4107 4207 430° 440 450°
H — —— —
_,,.,-———'-—-.._,_______-__.__‘,_..-—-..._,_
400° 4107 4207 4308 4407 4507

12

8!‘

4'.!

-4

-127



12

83

-12°

CELL 25

3 5 S
f 450-500 ft T
> ¥
E —
450 46y 4707 480° 490° 5007
4508 460’ 470 4807 4901 s00°

N !Lm AP l%

—_— ‘3.»’+C\-"\.f}

12°

=12



